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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

The ratio of cost price and selling of an article is 8 : 9.
The profit percent is

T FE HT ARG G T fashl 7 quta 8: 9. AT wfqera g

(1) 20
(2) 15
(3) 12.5
(4) 10
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

_ The cost price of 10 articles is equal to the selling price of 9
articles. Find the profit percent.

10 TEN T AT T 9 TEE + fAht o7 & TUaE< gl AT
gieraT &1 94T Y

(1) 9 (1/11)%

(2) 10 (1/10)%
(3) 11 (1/9) %
(4) 12 (1/9)%
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

If a man estimates his loss as 20% of the selling price, then

)
3 his loss percent is-

i< FIS MSHT AT THATT I fahl T F 20% F T F A

FARTAT 8, AT SHEHT THATT AT 8-

(1) 20%
(2) 25%

(3) 16 (2/3)%
(4) 50/3%
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When an object is sold at Rs 770, the loss is |
12(1/2)%. Find the cost price of the object? |
S FIS 9 ST ATAt g TAC 770, AER 12 (1/2)% |

BT g1 TET FT AT T AT T ? |

(1) Rs. 889
(2) Rs. 850
(3) Rs. 880
(4) Rs. 900

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDEI'I_ON_BATGH

9 The loss percent incurred when an object is sold at Rs 436 is
5 equal to the profit percent which is gained if the object is sold
at Rs 464. Find the cost price of that object?
S« feT aET FT Rs 436 99T SITAT § AT THATT QAT TqE
gIAT g ATH Tfa9ra &, Ife IHT a5 F Rs 464 ST ATAT 8 AT S

e T AR T ATd HIoA? (1) 460

(2) 389
(3) 450
(4) 400
(5) None of these
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

® By selling 144 hens Mahesh suffered a loss equal to the

selling price of 6 hens. His loss percent is

144 qRFT S99 F 73T ¥ 6 AT F FOF T F TUa e
TN SHHT THATT TIA9T 8
(1) 4

(2) 3

(3) 9
(4) 4(1/4)
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

A merchant finds his profit as 20% of the selling price. His
actual profit is-

TF AT AT ATH FT AFT T F 20% F T § qTaT 3
ATEA AT AT &-

(1) 20%
(2) 22%
(3) 25%
(4) 30%
(5) None qf these
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH
A dealer sold two T.V. sets for Rs 7400 each. On one
8 he gained 10% and on the other he lost 10%. The
dealer's loss or gain in the transaction is

TS St o &l &t €Y. 92 9 T4% 1 7400 TIT | | TH
T 39 10% FTATH 3T AL I 39 10% FT THATH gl
AT-a R STC BT THATT AT ATH 3

(1) No profit, no loss
(2) 1% gain
(3) 0.1% loss

(4) 1% loss  meeETEm———




Lﬂl SSC GD CONSTABLE 2023 - FOUNDATION BATCH
— o By selling a plot of land for Rs 45,000 a person loses,
10%. At what price should he sell it to gain 15%?
STHIE %7 T Wi Rs 45,000 96T ,UF Af<h S 10%

T T AT 2 | 15% ATH % forg I fover i aX ST
aTfRU?
(1) Rs. 50,000

(2) Rs. 55,000
(3) Rs. 57,500
(4) Rs. 60,000
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1 A dishonest sweet seller sells sweets at 10%

profit but uses 800 gms instead of 1 kg. Find his
0 profit percent?

T T2qT fAeTE AT 10% 1w 9X fists a=ar 8
At 1 fFaT % ST 800 TTH T SYANT HLAT 2
SHHT AT Tiaera stra Hifcd? (1) 54 (2/2)%

(2) 37 (1/2)%

(3) 49%
(4) 50%




SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

N~ 1 A shopkeeper sells a TV set on discount of 8% of
printed price and gains 25%. If marked price was Rs
1 20,000 then, what was the cost price?
U TR ad o7 98 8% Hit T & a1 &t 9
99dT g T 25% AT ITH FLAT gl T Hfha T4
Rs20,000 9T, q7 ARTT G 79T AT?
(1) Rs. 13800

(2) Rs. 14720
(3) Rs. 14800
(4) Rs. 13720

https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH

If there is a profit of 20% on the cost price, the
percentage of profit on the sale price is —

iR ATV T I 20% FT ATH grav g, qvT st o u<
AT T TA9d & -

(1)16 (2/3)%
(2) 12%
(3) 15 (1/3)%
(4) 16%
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If selling price of an article is 1 (1/3) of cost price, find
gain%.

I fdt a&q 71 96 o ,ava gox F71 (1/3) §,
ATH % FATT HL

(1) 25%

(2) 33 (1/3)%
(3) 1.33%
(4) 66 (2/3)%
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

A coconut merchant finds that the cost price of 2750
coconuts is the same as the selling price of 2500
coconuts. The loss or gain percent is —

T ATRIAS SATAT A 9T fF Rs 2750 T o IU0«<,

2500 TR 6t fasht o & F9T g1 THAT AT ATH
yfaera g -

(1) 5% loss

(2) 15% loss
(3) 20% gain
(4) 10% gain
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

A man buys some articles at Rs. P per dozen and
sells them at Rs. P/8 per piece. His profit percent is —
T AEHT T 9eqQ P 5. Iiq =19 § @=ar g1 X S
%. P /8 g i & fGara A =T g , SUHT ATH Taed 8

(1) 3%

(2) 40%
(3) 50%
(4) 60%
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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

In what ratio Darjeeling Tea costing Rs. 320 per kg
be mixed with Assam Tea costing Rs. 250 per kg so
that there is a gain of 20% by selling the mixture at

Rs. 324 per kg?
e SreaTa § ISRt = 320 T3 gfa feha e 3rad

1T & 9T A&7 ST AT S 250 €9 wia foher &
qTie TTor =Y € 324 Iia faFent § 996< 20% FT ATH g1 2

(1)1:2
(2)2:3
(3)3:2

(4) 2 . 5 https://t.me/MathbySuryaveersir




SSC GD CONSTABLE 2023 - FOUNDATION BATCH

By selling an article for Rs. 240. a man incurs a loss
of 10%. At what price should he sell it, so that he
makes a profit of 20% ?

240 TOT | TeF a5 AR TF AT T 10% T g1
grat gl SU e gor ax d=T =1y, atfs ag 20% T
ATH FHTT?

(1) Rs. 264
(2) Rs. 288
(3) Rs. 300
(4) Rs. 320
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SSC GD CONSTABLE 2023

On selling an article for Rs. 105 a trader loses 9%. To
gain 30% he should sell the article at —

105 TIF | TH qe€q o= T TH ATATA T 9% Y
ST BraT &1 30% ATH FHTA  forg Z& a&g v A==

FOUNDATION BATCH

(1) Rs. 126
(2) Rs. 144
(3) Rs. 150
(4) Rs. 139
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

By selling 4 articles for 1 Rupee, a man loses 4%.
Had he sold three articles per rupee, the profit would
have been:

1 T9F | 4 I d9H, T SMSHT 4% T AT 35T g TfQ
gid TIAT A FEIT 9 AT ATH % FINIT?

(1) 30%
(2) 28%
(3) 16%
(4) 12%
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

A man buys pencils at the rate of 6 for a rupee 5 and
sells them at 5 for rupee 6. his profit percent is?

0 T S {<h T 4T 5 TTT HT 6 it I AAT g AL IS5 6
TATHR S5 FT I ATT AT | AT ATH % JATT HX ?

(1) 33%
(2) 44%
(3) 16%
(4) 22%
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SSC GD CONSTABLE 2023 - FOUNDATION BATCH

N 9 find equivalent discount for successive discount of

6(2/3)%,28(4/7)%,33(1/3)%
1 wwrgea 727 % @ F ¢ T 72T R
6(2/3)%,28(4/7)%,33(1/3)% & at 2

(1) 11(1/9)%
(2) 55(5/9)%
(3) 16(2/3)%
(4) 6(2/3)%
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